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2. CBOAHbIE AaHHbIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wroro
TOI
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero
TeopeTuyeckoe o0byuyeHune 19 [172/3(362/3| 19 |181/3|371/3] 19 16 35 |181/3| 72/3| 26 [ 135
D |9K3aMeHauMOHHbIE ceccum 2 |[313|51/3| 2 |213|41/3| 2 |22/3|42/3|22/3|11/3| 4 |181/3
Y |YuebHas npaktuka 11/3|11/3 11/3
M |lMpou3BOACTBEHHAs NMpaKTUKa 31/3|31/3 4 4 (713
/ Mpou3BOACTBEHHAA NpakTuKa (paccpes.) 11/3|111/3| 11/3
_
I |Foc. ak3ameHbl u/vnu 3awmta BKP 6 6 6
K [KaHukynbl 2 8 10 2 7 9 2 7 9 2 | 82/3 |102/3| 38 2/3
UToro 23 29 52 23 29 52 23 29 52 23 29 52 | 208
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